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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 6.61 8344 | =nS | 0.00 ~ 0.00| 1.65 832 st 1.00 | 6.00 ~ 820 83.44 | =hS | 5,00 ~ 820 1.65 8.32
2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.61 70.10 | NS | 000 ~ 561|207 10.46 st 1.00 | 6.00 ~ 7.60 70.10 | =nRSY | 6.00 ~ 7.60| 2.07 10.46
3 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 740 94.40 | =nS | 000 ~ 740\ 1.79 9.06 st 1.00 | 6.00 ~ 9.60 94.40 | =hH | 5.00 ~ 9.60| 1.79 9.06
4 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 753 96.29 | #nS | 000 ~ 7.53| 1.78 9.02 st 1.00 | 5.00 ~ 9.90 96.29 | =n4 | 5.00 ~ 990 1.78 9.02
5 100kN/m%EBZ5 | 1.00| 000 ~ 018 10259 |3mEEZD -~ - - -] 100kN/mZ#8z5 | 1.00 | 1053 ~ 11.00| 102569 |3mZE#BZ5 -~
s 1.00 | 018 ~ 796 100.00 | #nlst | 000 ~ 796 | 2.18 11.00 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 1100|218 11.00
P 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 760 97.34 | =nS | 000 ~ 760 2.14 10.83 st 1.00 | 6.00 ~ 1010 97.34 | =hS | 5.00 ~ 1010 2.14 10.83
- 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 685 86.72 | #nRS | 000 ~ 0.00| 1.75 8.84 st 1.00 | 6.00 ~ 8.40 86.72 | =n4 | 5,00 ~ 840 1.75 8.84
P 100kN/m%EBZ5 | 1.00| 000 ~ 043 106.37 |3mEEZS -~ - - -] 100kN/ %8825 | 1.00 | 1080 ~ 1210 106.37 |3m%E#BZ% -~
s 1.00 | 043 ~ 822 100.00 | #nlst | 0.00 ~ 822\ 2.08 10.61 st 1.00 | 6.00 ~ 1080 100.00 | =hst | 6.00 ~ 1210)| 2.08 10.61
9 100kN/m%E#BZ5| 1.00| 000 ~ 042| 106.16 |3mEEZD -~ - - -] 100kN/ %825 | 1.00 | 10.76 ~ 1200 106.16 |3m%EiBZ% -~
s 1.00 | 042 ~ 820 100.00 | #nst | 0.00 ~ 820 | 2.09 10.56 st 1.00 | 6.00 ~ 10.76 100.00 | =hst | 6.00 ~ 1200 2.09 10.56
10 100kN/m%E#8Bz5 | 1.00 | 000 ~ 226 13524 |3mEBz% -~ - - -] 100kN/ %825 | 1.00 | 1063 ~ 20.70| 13524 |3m%E#BZ% -~
s 1.00 | 226 ~ 1005 100.00 | =nhst | 000 ~ 1005| 263 13.74 st 1.00 | 6.00 ~ 1063 100.00 | =hst | 6.00 ~ 2070 2.63 13.74
11 100kN/m%E#8z5 | 1.00 | 000 ~ 216 133.60 |3mEBz% -~ - - -] 100kN/mZ#8z5 | 1.00 | 10.70 ~ 20.40| 133.60 |3mZ#BZ5 -~
s 1.00 | 216 ~ 995 100.00 | =nhst | 0oo ~ 995 | 260 13.61 st 1.00 | 6.00 ~ 1070 100.00 | =hst | 6.00 ~ 2040 2.60 13.61
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~

D
H
Tl




